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4,  Which one of the following is not a’quadratic equation ? 1| 6. «Distance of the point P (2, 3) from X-axis is : . i
W@F@[ﬁﬂl‘\ﬂﬁﬁﬁ‘im’?‘ B, o | X o P (2, 3) Rl e 7
Awa @Al Bae AT e i
' X-erd (A P(2, 3) Fiva e ¥
(@) (x-2)+1=2x-3
2 (@ 2
() x(x+1)+8 =(x+2)(x-2)
(€ - x(2x+3)=x*+1 ' " J(B). 8
. 3 4 ' |
d (x+2) =x"-4 _ © 1
. . i o BD d 3
5. In the right triangle ABC, ZA=90 and AD L BC. Then e | _ |
| _ -l 1| 7. Value of sin?30°-cos>30° is g
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8. The angle of depression of an object from the top of a tower | 10." The volume and surface area of a sphere are equal. Diameter

of height 75m is 30°. Then the distance of the object from the of the sphere is : _ 1
foot of the tower is : : i T ——— W TR T, IR T & -

75@ 61 T B €Ol R TE GO A (I 30" | (oA TSR G (AN ST éﬁ‘i 'j‘é?ﬂ%{ T ZE NEF0F ?’W{‘iflﬁ :
AR 7131 TEOR 729 L9

75 . S5 36 T0ed Tom (T AT GF TE SRARS @I 307 | O Uit 2

TEd AW, (U 07 T/ T (b) 6 units (97F)

(@ 253 m ) l (¢) 2 units (9F9)

.(b) 5043 m (d) 4 units (9FF)

(c) ‘75\/'5 m

(d) 150m ' | : 11. Mean or average of 1, 2, 3, 4, .... nis : 1

1,2, 3,4, ... n 3G A T T
9. The area of the CLrCIe that can be inscribed in a square of side ' 2

Gom 18 % -« 1 1, 2, 3, 4, .... nq WG A 9T A
6 (&7, =R asf B ARSI o] e SR o G I 29

' n+l
6 .17, ARME G5 DlCwean areFETe =M w@ @ SfFe weed (@) —
FifeT T4
b n=1
(a) 367cm’ - (b) 2
(b) - 1$ﬁcrn2 | A © | (© %
() 12zcm? !
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(d) §+1
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Which one of the following is ‘the probability of an event ?
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SECTION-B

Using Euclid’s division algorithm find the HCF of 210 and 55.
Et. 2

ooy Fees @Rl 989 TR 210 W% 55 9 sLALE. Sl |

Torey Freren ARl 99E 90 210 @38 55 7 AL W |
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“Find. the number of terms of the following Arithmetic
progressions : 2

wene fAdl R eeifelsia o oine A Tleat
s creal s el @b 2 wc oreve

7, 13,

Find the ratio in which the y-axis divides the line segment
joining the points (7,3) and (-4,5). Also find the coordinates
of the point of intersection. 2

(7,3) &% (-4,5) R AN @<, yw—iﬁsww sl F(I?
(HHLOR FiPe Tfedl | -

(7,3) 9% (4,5) B At R y-rw & REGle ‘sm A |
(ELae ZFIkE [da T

s . . . _3 34
If Stanf =4, find the value of 551'n6? cosﬂ- 2
_ Ssinf+2cos0

5sin@—-3cos0

3 i Siees)
o9sinf + 2cos0 Rla I

7 Stand = 4, CS( ’E’.?!

Ssinf-3cosd

0=4 T, OIFa — -
W Stan et S5sinf+2cosd

7 W i @ |
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i [[<sing  [=sing _, .,
- rrove Hat - Y1—sing " V1+sing

_ J1+sin£? \fl—sin() :
o w0 (T o . g = Aeeg
1-sind@ 1l+sind
1+sin@ |1-sin@ STl
sl Al (3 / : +\/ : =2secd
e Vi-sind V1+sing

sin30° +tan45" —cosec60’
sec30° + cos60” + cot45°

18. Evaluate :

sin30° +tan45° — cosec60’

L s L s < w
A e sec30° + cos60° +cot45°
sin30° + tan45" — cosec60°
= e ==

sec30” + cos60” +cot45°

19. A die is thrown once. Find the probability of getting
(i) a prime number b
(i) a number lying between 2 and 6.
o1 Tqgel war T APeat taz
(i) €O oS AR
() 2 A 6 7 G GBI ]
coiRmE el e |
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SECTION-C

Find the zeros of the following quadratic polynomi-al and verify
the relationship between the zeros and the coefficients. = 3

©ei RIS AR AR TSR SliF §F SR SiF FIEET o
TAF FTOjIA Tl |

s femire Tzemia et Fd a1 <) 9% e aas Tl
T eifsem | - .

6x2-3-7x

Draw the graphs of the cquations 5x-y=5 and 3x-y=3

and. solve the equation with the help of graphs. 3

AN Sx -y =5 iF 3x—y =23 I (@ S ST TR T AT
oI I | . :

T Sx -y =5 GR 3x -y = 3 7 (1= ANl G (512 T ATl
ufoa e el |
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22. Find the roots of the following quadratic equation : s
o faure FFEOR o1 WA w4
e faars siweiba = Foa s |

2x2—7x+3=_0

-

The sum of the reciprocals of Kuwali’s age (in years) 3 years

23.
- g A i
ago and S years from now is 3 Find her present age. 3

fefeea =eice TeTe I (Ige) dfow wis «fsaiq 7= 5 a2 {7z
i : . 1 b . '
(o3 TR ST @A | ORI I T Bferel |

o7 q% 70 TR AR (IQA) SERE G3R 934 (AT 5 I AR O
1 it '
R AR QAT | Ol T 99 Fefa T |

Or / M2 / 9491

Is it-possible to design a rectangular park of perimeter 120m

and area 900m>? If 'so, find its length and breadth.

TPl Q4 SACPR THIE ERl A8 qF AR 120/ wiw il
000 fF2 ¢ W HTq ; TE WY OF 22 Ted |

GZIF GFT6 AACHA T AGEl F 7GR, T ARG 12077, G148 FIFH
900 /52 ¢ ¥ 31%a =3, S «foa il @3 2z fefa el
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243 '_I‘he sum o.f first 20 terms of an AP is 400 and that -of40 terms
1s 1600. Find the sum of first 10 terms and that of n terms.

| 3
<1 G 2oifeT @A 2051 9 (@IS 400 B1% A9 4075 AV (151
1600 | &% 1061 I &2 ni #iwa (Al Sijear |

G FAEE daifen @ew 20 ot e 400 q3g @w 407 o=
(@11 1600 | 22 10/ w3k 219w nfb »tm c@iores felg 3 |
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ab+c) blc+a)
’ a

If a, b, ¢ are in A.P, then shoﬁ' that
be - ca

nd

c(a+b) _
ab are also in A.P,

a(b+c) b(c+a)
be ' ca

i a, b, c M 2sifes Sy (orw (e (T,

cla+b)
ab

I
¢ WG @eifew g

a(b+c), b(c+a)

c ca

MW a, b c TG d5ifors A, i olle IRl
c(a+b) .
ab

9] @ G #sifers i)

25. The perpendicular from A on the side BCof a 4ABC intersects
BC at D such that BD=23CD. Prove that 2482 - 2A4C? + BC?

3
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‘and (2, 6).

AABC 3 A9 *{l BC 9 €% S siquits] BC igs D {76 10 TS

BD=3CD | 254 <=1 (¥ 2AB? = 2A¢2 +BC*

AABC 9 A7 (@ BC A ToME UEe &80 BC T@@ D Rl awera
. . 2 2
(% ¥ s BD = 3CD = | &9 W&l (@ 2AB° =2AC” + BC

Find the area of the triangle formed by joining the mid-points
of the sides of the triangle whose vertices are (4,2), (-2, 0)
' 3

4,2), (—2: 0.) T (2, 6) TERT @%ﬁ‘m 9@? ToommE ke
SR (0! IR 9 o <=1 {qeeeR FifE e
4,2), (-2,0) 9 (2,6) TARYeF am sfe fUgwia el

- Rl AR a sie Tgeta s fd @

A chord of a circle of radius 15cm subtends an angl'e of 60°
at the centre. Find the areas of the corresponding minor and

major segments of the circle. [ use 7=3-14 and J3 = 1-73:1)

rlsﬁﬁwﬁq@ﬂm T TE JEBR. S 60° I Beold TR |

I O (T geded Tl Rdg =01 [ 2 =314 W% @:1{73_@1@@@
]

15 (31,5, picda O Jred 93 ol Jelva (FEie 60° & Geor U |
T4 3] (T Feied el e Tt | [ 7 =314 @R V3 =173 TR
| j
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SECTION-D

28. Solve the following pair of cquations by reducing them to a

pair of linear equations. ° -
O AR TR FNeATaT oltad 5 ey |
0o e Cafdies Teate wolren o St 7| |

5 1 6 3
x-1 y-2 ?

x—1 y—2_

or / % / w3

2 women and 5 men can together finish a work in 4 days,
while 3 women and 6 men can finish it in 3 days. Find the

time taken by 1 woman alone to finish the work, and also that
taken by 1 man alone.

2 & RN I 5 T o[ B 6 4 T o R o1, T i
3 &l 7l Wi 6 T 5 3 Fire o TR #itea | @) AT e
R e g st CT TR I OIF ot o[@0a S o e
FIDT *17 TR 7 Tfeper |
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I (T T~z [elw )| '
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. equal to the square of the ratio of their corresponding sides. ,

_ elevation becomes 30°. Find the height of the

Prove that, the ratio of the areas of two similar triangles is.
4 '

sl <1 3, 51 Al g R Seie fage 1o 11 Sl T i

TAATGA A | - ol -

o Al @, 76 A fagcem < wee fagw A o sEhe A=

grsfa SRATod A |

Or / 7Zd / 94! : | |

Altitudes AD and CE of AABC interséct‘each other at :theJ
point P. Show that '

(i) AABD ~ ACBE
(iv) APDC ~ ABEC

(i) AAEP ~ ACDP
(iii) AAEP ~ AADB
ABC fage@ AD 9% CE Tafe qelta 23 P e = TF | YAl
i .

(i AAEP ~ ACDP
(iii) AAEP ~ AADB
ABC fretem AD R CE % {6 e P e (& ¥ | o7ie (3
(i) AAEP ~ ACDP (i) AABD ~ ACBE |
(i) AAEP ~ AADB (iv) - APDC ~ ABEC

(i) AABD ~ ACBE
(iv) APDC ~ ABEC

From the position of a person standing on the bank of a river,
the angle of elevation of a tree on the opposite bank is 60°.

When the person retreates 20m from the bank, the angle of
tree and the]
4

breadth of the river.
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| e AR AT G AR B A G o] T R0 S Al
MR EET T (NN 60° | T T 7 AR 71 20/7577 Pieaiz g
AT TF T (G 30° T | 91% CiFd Tl Wil wiRleE ﬁ?‘%ﬁ\‘ﬂi
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Prove that the lengths of t . : ;
: _ angents dra :
point to a circle are equal. 8 wn from an exter_ngi

o Sl (T 951 AR A g Tl AR Ol S
o Al (T o IR, A0 g~ Sl W"P‘ﬁﬁ\sﬁ‘lﬁfﬁ‘fﬁ A |
Or / 7231 / @<t

A circle is inscr.ibed in'a AABC having sides 8cm, 10cn
12cm as shown in the following figure. Find AD, BE ;;nd CF.

B! g four® (ST 409 AABC TR o [ Qe | I ATFIR
@ 8¢, 10EM T 1257 o, (SFRE

_ 1 . fi 2, (SEE AD, BE
b | ‘ . BE & CF (G
e Bt @il g€ AABC 7 1 bt =t Tz i | 7 <reeafsa e
8 (I, 107 932 12 i f: %, ST AD, BE R CF3 i Fiefa 2l
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33.

Construct an isosceles triangle whose base is 8cm and altitude

Aem and then another triangle whose sides are '1% times the

corresponding sides of the isosceles triangie. Mention the steps
of construction. , ' ' 4
8 (&, o % 4 (x5 Tafe [iFe @bl Araar G SIS B G GOl
frew e 4l M Sl A T AR [agehr St A 1L e
o | G GIPER BrEd R |

8 cifi, of @i 4 1M Tl [T o fEare fage o T
G fawe <iis T 26l Ae be i fgafs S I 15 ¢4 =
oEEE ieiafE S 9| 2

SECTION-E

A farmer connects a pipe of internal diameter 20cm from a
canal into a cylindrical tank in his field, which is 10m in
diameter and 2m deep. If water flows through the pipe at the

rate of 3km/h, in how much time will the tank be filled.
' S

o (<A (96, AdES A 105 W O 27 TERON @Bl @E
R (TR #191S 20 (Z 3. oo QUi #ii2ef b1 7T F51e AR
= farel | o 3 RS/ 95 TS 2Ii3eat@ 2/ (@ T (6T (SRIBIE! ©fE
7 e o AifiEe

qoe TEE OF Sfe A 10/ TF @R 2 TSRO G (<=

wigfea (SRR A0 20 7., ] G a5 ATe] GFD AFR A
weratsl aa o | v 3 B/ 901 217 ~iZf60e T A T oA H1RIwIo

- of% Tre F© oA A ?
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Or / 72 / 92t

From a solid ‘cylinde.r whose height is 2-4em and diameter
1-4cm, a conical cavity of the same height and same diameter
is l}ollowed out. Find the total surface area of the remaining
solid to the nearest em?. '

2-4(Zf. Twel OE 1-40%fA IERMS 6 G5 @ FE A9 G5 G0
THSfq ©Ii% GG APF I WP (U e Thiea 25 | S1#8 oiibREnR
*E IR waare Fefn w1 -
2-4 (A THS! @78 1.4 7.4 AFRMAE @@ oISt @wiem @ 9
G THO G2 GFE AEH 15 SIFled (AT Y @7 T4 2| O[S
(i1 T=EBa AoeifE 7977 fAm wmsia el = |

Draw an ogive and the cumulative frequency polygon for the
following frequency distribution by less than method.

Wﬁ‘ﬁfﬁﬁﬁs Teiems #[ wiets o9 2R 5! 9'Es e 7 IR
T7TT W | '
9IRS FeEa (AT 9F (W 7
S| AAFFS! ITTT S |

0-10(10-20
& 10

AT G C@ize Gqe

20-30 | 30-40|40-50 | 50-60
23 ~ 51 6 3 5
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